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Below shows the preload loop as it indirectly reads from FPM and
writes to SRAM buffer.

JINCLUDE «<m3Z28pdef . inc:

.DSEG
buffer: .BYTE 256 S 0 to 255
.CSEG
< Preload SEAM with string (indirect transfer from FFH to SRAM)
1di ZH.high{my=tring<<l) » ==t £ pointer at =tring addre=s= in Flash
1di ZL. low(mystring<<1l)
1di ¥YH, high({buffer) < =t ¥ pointer at address 0=0100 in SEAM
1di YL, low({buffer)
1di rl?, lov(imystring<<1l)
1di rle, lov(=stringend<<1)
=ub rle.rl? S pumber of iteration= in rle
o rl7.rle S copy to rl? for next loop
preload:
lpm r5,Z+ < load character to rh
=t ¥+.r5 < ztore rh in SRAM
dec rle
o brne preload < loop until =tring is= loaded (48 byvtez.characters)
Memory x
[Data v] 8/16| |abc.| Addrezs: 0x100 I:::uls:
000100 54 &8 69 73 20 73 74 72 &% 6E &7 20 77 &9 &C 6C This string will -
000110 20 &8 &1 76 &5 20 31 33 20 73 70 &1 &3 &5 73 20 have 13 spaces |
000120 &1 73 20 20 20 FF FF FF FF FF FF FF FF FF FF FF as  §ioidevddss b
000130 FF FF FF FF FF FF FF FF FF FF FF FF FF FF FF FF 99000000 9oedied L1
000140 FF FF FF FF FF FF FF FF FF FF FF FF FF FF FF FF §¥V¥VVyvvvyvyvey -

The Memory window tracks the content, displaying the addresses,
hexadecimal encoding, and characters (0xFF is undefined).



The second screenshot shows the loop which scans the buffer for
the space character (currently looking at the 'i' in "string").
rl7 counts remaining characters, r0 holds the count of spaces,
rl is the character being checked, and r20 holds the hexadecimal
equivalent to a space (0x20).

B roall CountSpaces
end :
L] rimp end
<< Count Spaces
CountSpaces:
clr r S initialize r0 to 0O
1di YH high(buffer) - =zt ¥ pointer at addres= 0=z0100 for SEAN
1di YL, lowi{buffer)
1di 20, 0=20 S load 0=20 to r20 for compare (ASCII space)
=can_uffer:
1d rl, ¥+ s load at £ pointer. increment to next byte address
co rl, r20 < compare loaded byte to 0x20
brne noEpace <o 1f not 0=Z20, =kip increment
0 inc 0 s increment rl if byte in buffer is 0x20
nospace:
dec rl? < dec for outerloop

=5 brne =can_buffer

ret
Watch x
Mame Value Tvpe Location
rl7 45 - Register R17 Oy
rd 1" Eegister RO
rl 1405 'iv Register ER1
r20 32 ' Register R20
] «
|@ w « » w Watch1 {Watch2 {Watch3 {Watch4 /




The final screenshot will show those four registers once the
program is complete. There are no more characters to check,

and

the final count is 13, Jjust as was indicated by the comments in

the code.
$ rcall CountSpaces
end:
(= rinp end
Watch x
MName Value Type Location
rl7 g Begister R17
rid 13 " Begister RO
rl a e Register RI1
r20 32 ' Register R20
{34 4 » W “Watch 1 4 Watch 2 {Watch 3 £ Watch4 /
e
dec rl? < dec for outerloop



